(REPC-Nr.: w

o

6605-UG-C MA1-00651
®| ) = i

Das Ersatzteil-Anforderungsformular finden Sie auf
The replacement parts requisition form you find on
https://www.maeusbacher.de/ersatzteile/




Colli 11

[ BEUTEL - Colli 1/1

M6x16 . M6x12 @ 5x34 @ 15x60

&
X [y swa| swa| 4 swa| 4 1x

Colli 11

Art.-Nr. :
6605-CT-rund

600x600

\.




@ M6x16 M6x12 @ 15x60
s
c/ E @

@Q
x| Ny, gwa| 3X swa| 4 swa| 1X




FTx-002187

Art.-Nr. :
6605-CT-rund s Y




	Seite 1
	Seite 2
	Seite 3
	Seite 4

